Vinmin=025 Vo min=1 VREF =5

Vin_max =0.8 VO_MAX =4.95

Write the equations for the two cases in the system and solve for the gain and offset
coeffcients (m and b)

1
2

1=m025+b
495=m-08+Db

Solve Eqn 2 for b
b=495-08m

Plug b back into Eqnl and solve for m
1=m-0.25 + (4.95 — 0.8-m)
1=495-0.55m

m = 7.1818181818181818182

Plug m back into Egn 2 and solve for b
b =4.95-0.8-(7.1818181818181818182)
b = —0.79545454545454545456

Double Check the results for m and b
Vo= 7.1818181818181818182 -0.25 + —0.795 = 1
VO ax:= 7.1818181818181818182 -0.8 + —0.795 = 4.95

Solve for the circuit component values:

Assuming R1 || R2 is << RG, then
_ RF + RG
R
Plug in m and solve for RF
RF + RG
7.1818181818181818182 = ———
Rg
Rp = 6.1818181818181818182-Rg

R1 and R2 can be solved for once b, VREF, and RF/RG are known

R R
Ib| = Vegr| — || ——

R
0.795 = 5-6.1818181818181818182- _z
Rl + R2

Rq = 37.879359634076615209-R,



